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Fruits and Veggies

The mass of the pineapple is units.

is 2 units.The mass of the 

units.The mass of the brocolli is 

The is 1 unit lighter than the tomato.

 unitsThe total mass of the 4 items is

is lighter than the tomato.The

 is 3 times heavier than the tomato.The

 is 4 times heavier than the carrot.The

Use Fill in the blanks. as 1 unit of mass.

2 tomatos brocollicarrot

tomatopineapple
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Answers

The mass of the pineapple is units.6

tomato is 2 units.The mass of the 

4 units.The mass of the brocolli is 

carrotThe is 1 unit lighter than the tomato.

13  unitsThe total mass of the 4 items is

carrot is lighter than the tomato.The

pineapple  is 3 times heavier than the tomato.The

brocolli  is 4 times heavier than the carrot.The

Use Fill in the blanks. as 1 unit of mass.

2 tomatos brocollicarrot

tomatopineapple


